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1. Ifthe expansion in power of x of the function
1

(1—ax)(1—bx)

is ap + a;x + a,x? + aszx3 + .., then a,, is

n +1 +1 +1 +1 b*—a"
a, — b attl — pn pntl_ gn
b)——MM — - d) b—
Ry ) == i ) b—a
2. 15 7
If (1 + 2x +x%)° = Z a;x¥, then Z = ay is equal to
k=0 k=0
a)128 b)156 c) 512 d)1024

3. Ifnis even, then the middle term in the expansion of (xZ + i)n is 924x°, then n is equal to
a)10 b)12 c) 14 d) None of these

4. The coefficient of x° in the expansion of (1 + x2)5(1 +x)*is
a) 30
b) 60
c) 40
d) None of these

5. The coefficient of x* in the expansion of (1 + x + x? + x3)n is
n
a) C4,
b) "C4 + "C;
C) nC4. + nCZ + nCZ
Q) "Cy+ "Co+ "Ci- "Cy

6. Ifa, b, c, dbe four consecutive coefficients in the binomial expansion of (1 + x)", then the value

2
of the expression {(b i C) —ar b(;:c — d)}(where x>0)is

a) <0 b) >0 c)=0 d)



10.

11.

12.

13.

14.

6
The coefficient of x> in (\/; + \/ixfs) ,1s

a) 0 b) 120 c) 420 d)540

11
The coefficient of x~7 in the expansion of [ax — ﬁ] will be
X

462a°
46245 46245 46245 -
)= b)=3 ) -5 )" p
The coefficient of x° in the expansion of (x + 3)° is
a) 18 b)6 c) 12 d)10

Forr =0, ..,10 let A,, B, and C, denotes, respectively, the coefficient of x" in the (1 + x)1°,
(14 x)?° and (1 + x)3°. Then

10
2 Ar(B10B; — C104r)
r=1

is equal to

a) B1o— C1o b) A10(B%o — C10410)
Cio—B

90 g C10~ Bro

If p and q be positive, then the coefficients of x” and x7 in the expansion of (1 + x)?*? will be
a) Equal

b) Equal in magnitude but opposite in sign

c) Reciprocal to each other

d) None of the above

If for positive integers r > 1, n > 2, the coefficient of the (3r)th and (r +2)th powers of x in the
expansion of (1 + x)?" are equal, then

d)N fth
a)n=2r b)n=3r On=2r+1 )None of these

—1.\10
The range of values of the term independent of x in the expansion of (x sin"la +< “) ,a €

X
[—1,1],is

100, 10 100, 71
a)| — 25 7 920 b)

1OCS7T2 1OC57T2

220 ! 25

(1,2)

c)[1,2] d)

If the coefficient of rth and (r + 1)th terms in the expansion of (3 + 7x)?° are equal, then r
equals
a) 15 b)21 c) 14 d) None of these



15.

16.

17.

18.

19.

20.

If the third term in the expansion [x + xlog“’x]s is 10°, then x( > 1) may be

a)l b)10 102

) 107°/2 d)
In the expansion of (1 + x)°C, the sum of the coefficient of add power of x is

51
a) Zero b) 249 ¢) 259 d) 2

If the coefficients of r** and (r + 1) terms in the expansion of (3 + 7x)?° are equal, then r =

a)15 b)21 c) 14 d) None of these

In the expansion of (1 + x)?*(n € N), the coefficients of (p + 1) and (p + 3)™ terms are equal,
then

=2n—2
ajp=n-—2 b)p=n—-1 dgp=n+1 d)p n
Let (1 +x)"=Yr—0a, x". Then,
a a a
(1 + —1)(1 + —2)(1 +— ) is equal to
Qo ay an—1
_ (n+ 1)" 1
(n+ D! py(m+ D" nt! ST

If Co,C1,C>,...,C,, denote the binomial coefficients in the expansion of (1 + x)", then the value of
Yr—o(r+1)C,, is

a)n 2" b) (n + 1)2™1 c) (n+2)2" ! d)(n + 2)2" 2



